Math 30-1 Radicals Lesson 2

1.
Complete the table.
	  x
	f (x)
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2.
For each point given on the graph of  y  f (x), does a corresponding point on the graph of 
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 exist?  If so, state the coordinates to the nearest hundredth.
a)
(9, 14)

b)  ( p, r)

c)
((2, 7)

d)  ((32, (1)

3.
Identify the domain and range of
[image: image3.wmf]().
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b)
f (x)  x2  5

c)
f (x)  2x2  18
4.

a)
Give examples of points on the graph of y  f (x) that would be invariant when graphing
[image: image5.wmf]().
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b)
Give examples of points on the graph of y  f (x) that would be undefined on the graph of 
[image: image6.wmf]().
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5.
  Using the graph of y  f (x), sketch the graph of
[image: image7.wmf]().
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6. Complete the table.

	
	y  x2  x  20
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7. Given the function 
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 , sketch the graph of  
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 and 
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.  Determine the location of any invariant points and determine the domain and range of 
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Answers


4, 2.8, 4, 1.96, 1


A)  � EMBED Equation.DSMT4  ���  B)  � EMBED Equation.DSMT4  ���	C)  � EMBED Equation.DSMT4  ���	D)  does not exist (DNE)


A)  � EMBED Equation.DSMT4  ���	B)  � EMBED Equation.DSMT4  ���	C)  � EMBED Equation.DSMT4  ���


A)  � EMBED Equation.DSMT4  ���	B)  � EMBED Equation.DSMT4  ���














Domain:  � EMBED Equation.DSMT4  ��� Range:  � EMBED Equation.DSMT4  ��� Invariant:  � EMBED Equation.DSMT4  ���





Domain:  � EMBED Equation.DSMT4  ��� Range:  � EMBED Equation.DSMT4  ��� Invariant:  � EMBED Equation.DSMT4  ���
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